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Que 1 Fill in the b lanks . 

2 Y 

(1) I I d:y;dy = .... .. ......... ........ . . 
o 0 

(8) 1 (b) 1/ 2 (c) 0 (d) 2 
(2) In double integral Total mass !\II of density lover regIon 0 < 1.' :s: 2 ; 0 < Y < 1 is 

( a) 1 (b) 2 (c) o (d) 4 

(3) In usual notation we say that , il v 2 w dxcly = . .. 

R 

J[PW j 'dW 
(a) an2 cls (b) dn cls (c) - - ds 1JaW 

2 an 
( d) o 

c c c 
(4) If v = yz + 4xJ then JJv· v dxdy = ........... . ........ . 

R 

(a) ° (b) 2 (c) -1 (d) 1 
(5) Parametric form of the plane y = x is f = .............. . . . 

(a)uz+vJ+uk (b)uz+uJ+vk (c)vz+uJ+vk (d)uz+J+vk 
(6) Area of a surface f(u, v) is A = .. ........ . . 

(a) II vEG -F2 ch;cly (b) II vEG + F2 clxcly (c) II V EG - p2 dudv 
R R 

(d) II vEG - F cludv 
R 

Que.2 Answer the following ( Any three) 

(l) Evaluate I3(x2 + '!/)ds , where 
c 

R 

C : Over the path y = x from (0,0) to (1,1) (counterclockwise direction) . 

(2) Find area of the region bounded by y = x2 and y = 2x + 3. 
1 

(3) Prove that area of plane region in cartesian form is given by A = 2 f[:rdy - yd:r] . 
c 

(l,2 ,3) 

(4) Evaluate the line integral I [xdx + ydy + zdz] on any path. 
(2.0,0) 

(5) Represent the surface 22 = 1.'2 +l in parametric form. 

(6) By using divergence theorem , evaluate II [x 2 dydz + y2 dzdx + 2 2 dxdy] , 
5 

where S: The surface of cube 0 :s: :c ) y , z :s: 1. 

Que3 Find volume of the region bounded by the tetrahedral cut from the first octant by the plane 

6 

G 

3r + 4y + 22 = 12. 6 



OR 
Q11e.3 Find t.he centroid of density 1 ill t.he plane area bounded by y = 2:r - ."[2 and !J = 3:r 2 

-- (i.r . (j 

Que.4 State and prove Green's theorem for plane. (i 

OR 
Q\l84 Ver ify the result 11\7 . 11 dxdy = IV . IT rls 

n c 
for V = 7 x~ - 3YJ , C: t h e ci rcle x2 + 1/ = L1 . li 

Que.5 State 8,nd prove divergence theorem of Gauss . G 

OR 
Que5 Find moment of inert ia of surface S of density 1 a bout z-axis , where 

S: F = (u + bcos V)( COS11? -j sin 'l.lj) + bsin vk, a> b > O, O:S u,u:S 27i. (:j 
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